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CONVERT TO STANDARD FORM 4 DIGITS SHEET 1 
Use your place value knowledge to find the missing numbers. 

 

1) 5 THOUSANDS + 7 HUNDREDS + 2 TENS = _______ 

2) 3 THOUSANDS + 8 TENS + 7 ONES = _______ 

3) 4 THOUSANDS + 3 HUNDREDS + 9 ONES = _______ 

4) 6 THOUSANDS + 2 HUNDREDS + 56 ONES = _______ 

5) 1 THOUSAND + 8 HUNDREDS + 34 ONES = _______ 

6) 7 THOUSANDS + 5 TENS + 4 ONES = _______ 

7) 12 HUNDREDS + 8 TENS + 7 ONES = _______ 

8) 14 HUNDREDS + 3 TENS + 4 ONES = _______ 

9) 9 THOUSANDS + 21 TENS + 8 ONES = _______ 

10) 3 HUNDREDS + 7 TENS + 2 THOUSANDS = _______ 

11) 8 TENS + 3 HUNDREDS + 5 THOUSANDS = _______ 

12) 72 ONES + 2 HUNDREDS + 4 THOUSANDS = _______ 

13) 16 HUNDREDS + 93 ONES = _______ 

14) 5 TENS + 7 THOUSANDS + 3 ONES = _______ 

15) 4 HUNDREDS + 5 THOUSANDS + 8 ONES = _______ 

16) 6 THOUSANDS + 3 ONES + 7 TENS = _______ 

17) 2 THOUSANDS + 9 HUNDREDS + 15 ONES = _______ 

18) 6 THOUSANDS + 13 TENS = _______ 

19) 8 THOUSANDS + 4 HUNDREDS + 16 ONES = _______ 

20) 3 ONES + 12 TENS + 4 THOUSANDS = _______ 

21) 6 ONES + 6 THOUSANDS + 22 TENS = _______ 

22) 28 ONES + 7 HUNDREDS + 1 THOUSAND = _______ 
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CONVERT TO STANDARD FORM 4 DIGITS  

SHEET 1 ANSWERS 

1) 5 THOUSANDS + 7 HUNDREDS + 2 TENS = 5720 

2) 3 THOUSANDS + 8 TENS + 7 ONES = 3087 

3) 4 THOUSANDS + 3 HUNDREDS + 9 ONES = 4309 

4) 6 THOUSANDS + 2 HUNDREDS + 56 ONES = 6256 

5) 1 THOUSAND + 8 HUNDREDS + 34 ONES = 1834 

6) 7 THOUSANDS + 5 TENS + 4 ONES = 7054 

7) 12 HUNDREDS + 8 TENS + 7 ONES = 1287 

8) 14 HUNDREDS + 3 TENS + 4 ONES =1434 

9) 9 THOUSANDS + 21 TENS + 8 ONES = 9218 

10) 3 HUNDREDS + 7 TENS + 2 THOUSANDS = 2370 

11) 8 TENS + 3 HUNDREDS + 5 THOUSANDS = 5380 

12) 72 ONES + 2 HUNDREDS + 4 THOUSANDS = 4272 

13) 16 HUNDREDS + 93 ONES = 1693 

14) 5 TENS + 7 THOUSANDS + 3 ONES = 7053 

15) 4 HUNDREDS + 5 THOUSANDS + 8 ONES = 5408 

16) 6 THOUSANDS + 3 ONES + 7 TENS = 6073 

17) 2 THOUSANDS + 9 HUNDREDS + 15 ONES = 2915 

18) 6 THOUSANDS + 13 TENS = 6130 

19) 8 THOUSANDS + 4 HUNDREDS + 16 ONES = 8416 

20) 3 ONES + 12 TENS + 4 THOUSANDS = 4123 

21) 6 ONES + 6 THOUSANDS + 22 TENS = 6226 

22) 28 ONES + 7 HUNDREDS + 1 THOUSAND = 1728 
 


